3Y I MY STUN (49| 2573

CHRl: ME, & % $/kg

o 20104 8E (&) 20114 8E(TFH) SHEEE) 2010 8H(5+A) 20113 8H (A SHE(FA) T=Tht

= = 5% = 53 |auw[zz| a9 5% EC, 52 | 39 [ =% | 20108(239) [ 2011829
= 1,050,941 215773| 1,232,123| 220,224 17.2 2.1| 8940,310| 1,761,003 | 10,616,228 | 1,796,244 | 187 2.0 4.87 5.59
=3 207,553 33,342 247,266 33,801 19.1 14| 1730766 262259 | 2,001,932 253,055 | 157| -35 6.22 7.32
H| £ it 110,038 20,842 132,989 24301 209| 166 968,750| 161,146 | 1,305,635 204,408 | 348| 2658 5.28 5.47
3 [o= 100,503 20,644 112,573 17,220 120| -166 831,228/ 183,762 883,906 142,835 63| -223 4.87 6.54
4 |olELjA|O} 55,798 7,657 88,222 12,404 581| 620 681,637| 93,407 878,858 105,811 | 289 133 7.29 7.11
5 |um 56,420 7,999 68,076 8,011| 207 0.1 476,616| 65,831 576,152 69,662 | 209 5.8 7.05 8.50
6 |22 59,095 6,541 57,360 5447 29| -167 510,703| 56,799 532,530 49,854 43| -122 9.03 10.53
7 |ofzton|g|E A 36,010 5,817 42,053 5684 168| -23 316999| 51,625 332,378 45,973 49| -109 6.19 7.40
8 |A}Sc|otatu|o} 21,387 3,675 24,356 3,278 139 -108 204,559| 33,627 223,898 30,509 95| -93 5.82 7.43
9 |E47 21,842 4,433 22,399 4,616] 25 4.1 182,044| 36914 196,160 36,443 78| -13 4.93 485
10 (= 16,804 5,217 21,228 4429 263| -151 129218 35,783 176,470 40,078 | 366| 120 3.22 479
11 g2 13,453 3,528 18,146 3957 349| 122 105384| 26,006 138,969 29,096 | 319 119 3.81 4.59
12 |2{A|O} itk 16,598 5,691 18,072 5236 89| -80 124,457| 34,404 153,534 38526 | 234| 120 2.92 3.45
13 |ZtEC|o} 17,799 5,606 17,989 5821 11 3.8 129,069| 46,522 163,298 47,509 | 265 2.1 3.17 3.09
14 (™| 14,783 3,616 17,542 3597 187| -05 131,985| 29,606 170,910 32,737 295| 106 4.09 488
15 [QIC|oK9IE) 11,953 3,603 17,488 4665 463 | 295 93,415| 28437 118,989 33922 | 274| 193 3.32 3.75
16 |o|=ta|o} 12,102 3,273 16,605 3907 372| 194 109,329| 25713 146,488 31,406 | 340| 221 3.70 4.25
17 |2apx 18,901 4,830 15,843 3913 -162| -19.0 142,611| 36914 131,882 31,373 75| -150 3.91 4,05
18 [g= 13,193 4,036 15,204 3,861 152 -43 86280 22,134 102,585 24647 | 189| 114 3.27 3.94
19 |ZA 9,556 1,688 13,076 1492 368| -116 94276 12,453 109,561 12,620 | 162 13 5.66 8.76
20 |cyat 10,761 2,296 12,645 2,415 175 5.2 93,525| 20412 105,912 20,960 | 132 2.7 4.69 5.24
21 |HA|R 10,722 2,472 12,316 2,674 149 8.2 93353| 22,269 102,315 20,685 96| -7.1 434 461
22 |oj= 8,548 3,335 11,891 2678 391| -197 67,538| 25954 102,361 28304 | 516 9.1 2.56 444
23 |ur3ath|Al 9,810 1,749 11,119 1575 133| -10.0 81571| 16,313 115,861 19,200 | 420| 177 5.61 7.06
24 |FpLct 7,967 1,426 11,056 1489 388 44 68,005| 14,824 78,227 14,295 | 150| -36 5.59 7.43
25 |m}7| AE 10,911 4,827 10,501 5175  -3.8 7.2 79,546 44,367 80,672 37,592 14| -153 2.26 2.03
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3% Y MY +UMT (49l 2574F)
ciol: Mg, £, % $/kg

o = 2010 88 (2 ) 20114 8E(FF) | sz=(=d) | 20104 sE(=A) 2011H sF(5A) | ZeCEAD) UL}
= 5% = 5% | 3o sz =9 5% = 5% | = [ 5% | 201089 | 2011828
=A 922,073 131,431 1,239,797 134,014 34.5 20| 6,097,386| 1,028,954 8,128,165 1,048,938 333 1.9 7.02 9.25
1 |52 505,771 66,875 640,592 69,198 26.7 35 3,250,200 514,288 4,162,695 527,872 281 2.6 7.56 9.26
2 (HEY 71,904 13,465 140,085 15,512 94.8 15.2 460,116 108,495 868,783 127,147 88.8 17.2 534 9.03
3 |O|Er2| o} 44,958 439 77,554 564 72.5 28.7 266,599 3,758 367,271 3,674 37.8 -2.2 102.52 137.43
4 |QlLjA|o} 39,360 10,955 54,929 9,795 39.6 -10.6 309,385 92,609 424,283 81,348 37.1 -12.2 3.59 5.61
5 (& 35,593 5322 42,149 6,886 184 294 271,358 45,378 303,187 53,997 11.7 19.0 6.69 6.12
6 (O]= 30,778 3,397 38,970 4,330 26.6 27.5 231,190 24,634 270,957 27,821 17.2 12.9 9.06 9.00
7 (O] 9O} 14,318 966 31,450 1,432 | 1197 48.3 52,620 3,700 121,540 6,613 | 1310 78.7 14.83 21.96
8 |QIC|OoHQlE) 42,487 10,089 30,333 5,707 -28.6 -43.4 285,380 77,186 293,267 51,995 2.8 -32.6 421 5.32
9 |ZEA 15,659 124 23,016 246 47.0 98.9 143,981 1,505 176,391 1,559 22.5 3.6 126.59 93.56
10 |Ej= 11,146 2,055 16,376 2,807 46.9 36.6 89,669 20,355 110,283 17,605 23.0 -13.5 542 5.83
11 |o}7|AEh 8,236 2,256 13,439 2,938 63.2 30.2 61,482 20,270 164,749 32,234 | 168.0 59.0 3.65 4.57
12 (CHSt 10,057 2,319 13,079 2,628 30.1 134 78,910 20,762 103,797 21,387 315 3.0 4.34 4.98
13 |2y o| x| o} 10,415 4,216 11,259 3,495 8.1 -17.1 80,304 34,520 102,131 33,077 27.2 -4.2 247 3.22
14 |gk2 2G| A| 7,579 525 10,205 609 347 16.0 26,713 3,551 54,071 4,660 | 1024 31.2 14.44 16.76
15 (=¢ 7,180 411 7,961 530 109 29.0 50,445 3,823 59,193 4,434 17.3 16.0 17.49 15.03
16 |¥= 4,774 464 7,599 587 59.2 26.6 32,654 3,697 43,648 4,384 33.7 18.6 10.29 12.94
17 |E{7]| 5,599 245 7,021 266 254 84 35,690 1,644 40,541 1,147 13.6 -30.2 22.83 26.42
18 (Amol 3,434 281 6,908 5351 1011 90.4 27,026 2,274 40,494 3,006 49.8 32.2 12.21 12.90
19 (A EZ|o} 8,532 2,650 6,851 1,683 -19.7 -36.5 49,883 15,382 56,687 15,162 13.6 -14 3.22 4.07
20 (=g 2973 309 6,525 482 1 1195 56.3 20,435 1,892 34,372 2,918 68.2 54.2 9.64 13.53
21 (B3 3,901 94 5,856 116 50.1 23.6 22,307 1,051 31,032 1,217 39.1 15.8 4144 50.33
22 (ZtHEC|ot 1,684 74 5,075 224 | 2014 | 2044 12,140 548 22,341 956 84.0 74.4 22.85 22.62
23 (A=} 1,816 445 3,935 5871 116.7 32.0 14,399 3,126 20,291 3,566 40.9 141 4.08 6.70
24 |ZEEZ 2,290 45 3,424 49 49.5 8.8 12,302 241 18,116 351 47.3 45.3 50.90 69.94
25 (A& 1,877 41 3,133 21 66.9 -48.1 14,529 219 22,601 278 55. 274 45.68 146.93
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